Chapter 07

Sampling and Sampling Distributions

True / False Questions

1. If the sampled population is exactly normal distribution, then the sampling distribution of  [image: image1.wmf] is also expected to be normal regardless of the sample size. 
True    False
2. If we have a sample size of 100 and the estimate of the population proportion is 0.10, we can estimate the sampling distribution of  [image: image2.wmf] with a normal distribution. 
True    False
Multiple Choice Questions
3. If a sample size is at least ____, then for any sampled population, we can conclude that the sample means are approximately normal. 
A. 25
B. 20
C. 30
D. 50
4. For non-normal populations, as the sample size (n) __________________, the distribution of sample means approaches a(n) ________________ distribution. 
A. Decreases, Uniform
B. Increases, Normal
C. Decreases, Normal
D. Increases, Uniform
E. Increases, Exponential
5. The central limit theorem states that as the sample size increases the distribution of the sample ________ approach the normal distribution. 
A. Medians
B. Means
C. Standard deviations
D. Variances
6. If the sampled population is approximately normally distributed with a mean 48 and a standard deviation 16, then the mean and the standard deviation for the sampling distribution of  [image: image3.wmf] for n = 16 are: 
A. 4 and 1
B. 12 and 4
C. 48 and 4
D. 48 and 1
E. 48 and 16
7. If the sampled population is approximately normally distributed with 

( = 16. Find P ( [image: image4.wmf]  < 25) if [image: image5.wmf] = 4. 
A. 1.000
B. 2.25
C. 0.9878
D. 0.0122
8. Find P(395.4 <  [image: image6.wmf] < 404.6), if the population mean = 400,  [image: image7.wmf] = 20, and n     = 100. 
A. 0.9786
B. 0.9999
C. 0.0214
D. 0.9893
9. The population of lengths of aluminum-coated steel sheets is normally distributed with a mean of 30.05 inches and a standard deviation of 0.3 inches. What is the probability that average length of a steel sheet from a sample of 9 units is more than 29.95 inches long? 
A. 0.8413
B. 0.6293
C. 0.3707
D. 0.1587
10. The diameter of small Nerf balls manufactured at a factory in China is expected to be approximately normally distributed with a mean of 5.2 inches and a standard deviation of 0.08 inches. Suppose a random sample of 20 balls is selected. Use the empirical rule to find the interval that contains 95.44% of the sample means. 
A. [5.04, 5.36]
B. [5.18, 5.22]
C. [5.16, 5.24]
D. [5.07, 5.33]
11. The population of all sample proportions has a normal distribution if the sample size (n) is sufficiently large. The rule of thumb for ensuring that n is sufficiently large is: 
A. np ( 5
B. n(1 - p) ( 5
C. np ( 5
D. n(1 - p) ( 5 and np ( 5
E. np ( 5 and n(1 - p) ( 5
12. If we have a sample size of 100 and the estimate of the population proportion is 0.10, the mean of the sampling distribution of the sample proportion is: 
A. 0.0009
B. 0.10
C. 0.03
D. 0.90
E. 0.09
13. If we have a sample size of 100 and the estimate of the population proportion is 0.10, the standard deviation of the sampling distribution of the sample proportion is: 
A. 0.0009
B. 0.03
C. 3
D. 9
E. 0.10

14. In the upcoming governor's election, the most recent poll based on 900 respondents predicts that the incumbent will be reelected with 55% of the votes. For the sake of argument, assume that 51% of the actual voters in the state support the incumbent governor (p = 0.51). Calculate the probability of observing a sample proportion of voters 0.55 or higher supporting the incumbent governor. 
A. 0.0166
B. 0.0247
C. 0.0082
D. 0.9918

